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M Star

K Star

G Star 

TOO HOT

TOO COLD

PERFECT

HOW?
The earth was uninhabitable but cooled down enough until it was able to hold water. 

Magma (incredibly 
hot, molten rock) 

Asteroids containing small amounts of 
water, would collide with the incredibly 

hot, magma earth. Enough collision would 
eventually cool down the earth. 

Asteroid Theory
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Evidence

There are two types of water; water and 
heavy water. The ratio between these two on 
earth is similar to the ratio between them on 
the asteroids. Very likely that earth’s water 

comes from the asteroids when they collided. 

Goldilocks zone (Habitable zone)– Area in solar system that would allow water to exist in its liquid form.

Our sun is a G star! 
(we have a large goldilocks zone)

To support life, a planet should…
be in the Goldilocks Zone

Suitable temperatures, Gravitational pull
Atmosphere & Magnetic field (protect 
from sun)

Water (Liquid form)
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